
j*f g+= 6                                     s'n ah]^ ? 79,72715.–  
s_ k"jf{wf/ lasf; tkm{ ? 5810900.5                                                        gd'gf of]hgf 1000000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 10ld^/ rf}= 200ld=xl/ofnL k|j{$g ;d]t / u|fe]n df^f] lkmlnË -gd'gf of]hgf_ 

:jf:Yo rf}sL b]lv lkkn *fF*f 1000000   

  hDdf   1000000   
;*s tkm{ 3250000.–     
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 10 ld^/ rf}= df^f] lkmlnË / u|fe]n  a]; SofDk b]lv dlgsfk'/ la/ a= cfn]sf] ^f]n ;Dd 500000   
2 12 ld^/ rf}= df^f] lkmlnË / u|fe]n  wd{k'/ b]lv yfgb]pv/ ldng rf}s ;Dd 500000   
3 10 ld^/ rf}= df^f] lkmlnË / u|fe]n xf]d kfOk lkml^Ë  tNnf] dbk'/ b]lv pkNnf] dbk'/ ;Dd 550000   
4 sNe^{ lgdf{)f xf]dkfOk lkml^Ë va/L hfg] af^f]df 400000   
5 lg/Gt/tf gfnL xl/ofnL rf]s b]lv Hof]lt rf]s ;Dd 450000   
7 lg/Gt/tf gfnL kl/rf]s b]lv blIf)f  400000   
8 gfnL / u|fe]n 6 ld^/sf] af^f] s'dfn a:tL 450000   
  hDdf   3250000   
law't tkm{ ? 400000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 8 yfg kf]n cfF^Lkfs/ ltg#?jf ^f]n 

400000 

  
2 5 yfg kf]n 500ld^/ tf/ tNnf] dbk'/   
3 3 yfg kf]n 300ld^/ tf/ ags§L u'#f{sfdL #/ lt/   
4 4 yfg kf]n 200ld^/ tf/ a'$Hof]lt afnfv'§L /f]*   
5 2 yfg kf]n 200ld^/ tf/ lkmNdxn g]/   
6 3 yfg kf]n 300ld^/ tf/ /fdk'/ d'l:nd db/;f   
7 5 yfg kf]n 300ld^/ tf/ dlgsfk'/ dfem^f]n   
  hDdf   400000   
l;rfO{ tkm{ ? 400000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 af]l/Ë -:ofnf] ^o"a] _ 8 yfg / Xof)* kfOk 5 yfg j*f g+= 6  300000   
  hDdf   300000   
ko^{g tkm{ ? 460900.–     
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 sf]l^of dlGb/ ef}lts lgdf{)f j*f g+= 6 460900   
  hDdf   460900   
 cWoIf k'FhLut ;'wf/ sfo{qmd   300000  
k|j${gfTds tkm{sf] ? 2361815.–                                k"jf{wf/ tkm{sf] of]hgf -km'^s/ of]hgf_ 1417089.–  
ut cf=j=sf lg/Gt/tf of]hgf tkm{ ? 1190000.–                      ;*s tkm{ ? 665000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 lg/Gt/tf cw'/f] sne^{ lgdf{)f v]dnfn s'dfnsf]#/ g]/ 100000   
2 af^f] u|fe]n  :jf:Yo rf}sL k'j{ 100000   
3 lg/G/tf sNe^{ lgdf{)f Crdfg #lt{sf] #/ g]/ 125000   
4 lg/G/tf sNe^{ lgdf{)f dbk'/ 125000   
5 lg/G/tf u|fe]n / xf]d kfOk h*fg lg/Gt/tf emfnL 100000   
6 lg/G/tf af^f] u|fe]n  lg/Gt/tf  dlgsfk'/ ;'SDaf;L ^f]n b]lv pQ/ 115000   
  hDdf   665000   
vfg]kfgL tkm{ ? 200000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 s'jf lgdf{)f 2 j^f k|]d s'df/L s]=;L dlgsfk'/ z]js /fd clx/ yfgb]pv/ 100000   
2 vfg]kfgL ^of+sL va/L 100000   
  hDdf   200000   
 ko^{g tkm{ ? 100000    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 nf]s ;+:s[lt / km'^an ;fdfu|L / *«]; vl/b  dlgsfk'/  100000   



  hDdf   100000   
 
 
:jf:Yo tkm{ ? 150000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 :jf:Yo rf}sL cg'bfg u(jf :jf:Yo rf}sL 150000   
  hDdf   150000   
ejg tkm{ ? 200000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 blIf)f / pQ/ db/;f u(jf 100000   
2 ;fd'bflos ejg lgdf{)f afnfv'§L j*f g+= 6 100000   
  hDdf   200000   
Ifdtf lasf; tkm ? 102089.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
2 (lsof a'gfO{ tflnd dlxnf j*f g+= 6 102089   
  hDdf   102089   
k|j${gfTdssf] 40k|ltzt nlIft sfo{qmddf ? 844725   
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 afnaflnsf tkm{ 15k|ltzt   254272.17   
2 dlxnf tkm{ 5 k|ltzt   118090.73   
3 cflbaf;L hghftL 5 k|ltzt   118090.73   
4 dw];L ÷ d'l:nd ÷ lk%*fju{ 5 k|ltzt   118090.73   
5 h]i& gful/s 1 k|ltzt   23618.15   
6 o"jf tyf v]ns'b 5k|ltzt   118090.73   
7 blnt 2 k|ltzt   47236.29   
8 ckfË   47236.29   
  hDdf      


